= CAREER POWER

Solution

S1. Ans.(d)

AN IIT/IIM ALUMNI COMPANY

Sol. The answer should be 4 that is max. If we add 335 + 5A7 = 8B2 and should be divided by 3.

So, the B value will be less than 10.

S2. Ans.(b)
Sol. By using option. 9960 divisible by 10, 15, 20.

$3. Ans.(c)

Sol. By using option 303375 which is divisible by 25.

S4. Ans.(b)
Sol.

1 2 3 n
n— (—+—+—+ —)
n+1 n+1 n+1 n+1

1+2+3+4...+n

n+1

_p,_2_n

T3
$5. Ans.(c)
Sol.

boys=x, Girls=z — x

. Z—=X X

Part of girls = - = 1 —

$6. Ans.(d)

Sol. LCM of 6, 8,12 and 16 = 96

S$7.Ans.(d)
Sol.
Unitplace— 3xX8X7x6=8

$8. Ans.(b)
Sol.
12x13

Req.ans=2(14+2+---4+12) = ZXT=156

$9. Ans.(c)
Sol. 6 x 5 =30 so, + sign the answer is 6.
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$10. Ans.(a)

Sol.

The patternis,1*—1=0,3*—-1=26,5"—-1=124
22 —1=7,4-1=63,63—1=215

S$11. Ans.(c)
Sol.
ATQ x.x =y.D,
D,=%d
7 = ? dys
S$12. Ans.(c)
Sol.
2243242 9
2 12 16 x
=x=16
Fourth person’s share = i X 1200
=225
$13. Ans.(b)
Sol.
o= ()
2 1 1 .
; + E_y = E ...[ll)
by (i) & (ii)
6 1 4
X x 5

=x = ﬁidays

$14. Ans.(c)
Sol.

7 7 3 7

20 30 &0 12
.. 7 -
Remainingwork=1——=—
12 12

Time taken by C = — X 10 = 24 days

$15. Ans.(d)
Sol.

Time taken by Ramesh = 4 x % = g days

Workdone by all threein 1 day = 1414338
4 & g 24
. 24 5
Req. time = P 15 days
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$16. Ans.(b)

Sol.
D1T1=D:T:
18x6=12xT:
T-=9

$17. Ans.(b)
Sol.

) ) b
Successive discount = (a +b— ﬁ)%

$18. Ans.(c)
Sol.

13 Dx(lﬂﬂ— —J

SP.=
100
So, gain = 215%

—121 %

$19. Ans.(a)

Sol.
CP of chair = (600 _ ﬁﬂﬂm)
100

So, actual CP =408 + 28 =436

x 22 — 408
100

gain % =22"2° % 100 = 25%
$20. Ans.(a)
Sol.

Single equivalent discountof 20% & 10% = 28%

Single equivalent discountof 28% & 10% =35.2%

SP of piano = 15000x%(100-35.2) — 9720

100

$21. Ans.(c)
Sol.

1218
x = =27

12

$22. Ans.(a)

Sol.

Marks in English = 2x
Marks in Maths = 3x
Marks in Science =x
x+2x4+3x=180
6x=180,x =30

CAREERPOWER

AN HIT/IIM ALUMNI COMPANY

@) SSC C6L 2017

ssn All Rounder

350+ TOTAL TEST
* 80+ TIER-| MOCKS

« 50+ TIER-II MOCKS

* 200+ SECTIONAL TEST
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$23. Ans.(b)
Sol.
ATQ,

(2x)? + (3x)> + (4x)? = 1856
29x? = 1856
x=28

S$24. Ans.(b)
Sol.

xiy=3:2
yiz=3:2
xiyiz=9:6:4
Qa+ 6a+4a =342
a=18

So,

A—162

B—-108

C—=72

$25. Ans.(c)
Sol.
A

B_¢C
3 4

2
A:B:C=2:3:4

2
A=§X900=200

3
B=§><9{]U=3{]O

4
C=§><9'DD=4DO

$26. Ans.(c)
Sol.
A:B:C=2:5:4
Difference — (E - %) x 126.50
3
=~ X 126.50=34.50
11

$27. Ans.(b)
Sol.

a.+b+c=2d
3

a+b+c=6d )

a+b+c+d

P

a+hb+c+d=48

6d+d =48

d_48
7
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$28. Ans.(b)

Sol.

No.=x,x+2. e, x + 10
Req. diff =x + 10— x =10

$29. Ans.(d)
Sol.
Req. Avg. Speed = %D:;D = 24 kmph

$30. Ans.(b)
Sol.
On adding 6. arithmetic mean= 24+ 6 = 30
On multiplying by 2.5 arithmetic mean =30 X 2.5= 75

$31. Ans.(c)

Sol.
ATQ,
11(x—5)+120=12x
x = 65runs

$32. Ans.(d)

Sol.
Sixthresult=6X49+6Xx52—11x50
=294+312—-550=156

$33. Ans.(a)

Sol.
SP of 25m of cloth — CP of 25m of cloth
= SP of 5m of cloth
~ CP of 25m of cloth = SP of 20m of cloth
CP=20,5P=25

gain percent = i X 100=25%

$34. Ans.(c)

Sol.

ATQ,

(110 130
21007 100

x = 2000

CAREERPOWER

AN HT/HIM ALUMNI COMPANY

SSC CGL 2017
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$35. Ans.(b)
Sol.

Total expected S.P, = 22220210

= 105600

SP of Ist part = = X 96000 X % = 36096

SP of remaining part= 105600 — 36096

= 69504

3
CP of remaining part = = X 96000 = 57600

5
Gain= 69504 — 57600 = 11904

If gain percentbe x, then

57600 X x
T T —— 11904
v 11904 x 100 _ ZGE%
57600 3
$36. Ans.(c)
Sol.

ATQ, 120x/100-115x/100=27
x = 540

$37. Ans.(d)

Sol.
SPof17 balls=720

17x— 720 = 5x
x = 60

$38. Ans.(c)
Sol.

Total cost= (30x 10+ 35x 11)= 685

req. SP = (—ﬁgj:;m)

685x130

rate per kg = . =13.7

3x100

$39. Ans.(c)
Sol.
ATQ,
245
x X m =
x =80

98

$40. Ans.(c)

Sol.

10% of 3000 =300
15% 0f2000 =300
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S$41. Ans.(b)
Sol.

If D gets 100 marks. Then marks obtained by C=125
Marks obtained by B = 222*%¢

100

Marks obtained by A = 2222 5 125
100 100
125X 125x90x320_450
B 1000000 B
S42. Ans.(a)
Sol.
Req. % _ 40x1004+50x90+60x20 _ 883%
40+50+60 3
S$43. Ans.(a)
Sol.

Req. ratio =2 .x=1:4
2%

S44. Ans.(a)
Sol.

time taken = % = 18 hours

Req.time = 18 hours+ 1 hour 20 mins=1:20am

$45. Ans.(b)
Sol.
Dist= = —%*=2 5 x — 4km
3 4 &0
$46. Ans.(c)
Sol.
Relative speed = 40 — 20 = 20 km/hr. = 20 X i m/sec
length of faster train = 201: > %5 = 2?5111

$47. Ans.(b)
Sol.

CI:P[(l +1%’:0)T— 1]

104?
— 5000 [(1+ﬁ) _ 1]: 1655

& SSCCPO 2017

S56- TIER-I|

TOTAL VACANCIES-2355
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$48. Ans.(c)
Sol.

Time = % X 2 = 3 half years

Rate :? = 5% perhalf year

r2 ar

1000000 10000)
244—P( 125 + 75 )

~ " \1000000 10000
P = 32000

Difference =P (

$49. Ans.(a)

Sol.

A=P (1 + E)
3362 ( 10 )‘“

- = 1_|__
3200 400
= zlyear

$50. Ans.(d)
Sol.

A= P(l + %)T

2
1.44P:P(1+%) - R =120%

S$51. Ans.(a)
Sol.

i hectare = i X 10000 sq. meter. = % sq. meter

50
width =3x=3 XE: 25 meter

$52. Ans.(c)
Sol.

Volume of area = im’zh = % X1.6X16%3.6
So, the another height H = = 6.4 cm

1l.6x1.6x3
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$53. Ans.(a)
Sol.
Area of rectangle = 3 X area of square.

3
EUXEXx=3><x2
x=10¢cm

S$54. Ans.(d)
Sol.

Volume of = gm"zh
Curved surface area =mrv h? + r?
1 1
3nvh® — c?h? + 91?2 =3 X gﬁ?’zh X h® —m2ri(h* +r3H)h*+ 9 Xanz?"*.h:

m2rih* —m?riht — mirt*h? + 2rth? =0

$55. Ans.(d)
Sol.
nmr? =154

1 = 7 meter
1
Enr2h= 1232
h = 24 meter
22
Areaof canvas = nrl = nry h? + 12 =7><:? 242 4+ 72

= b50sqg.m.
5330
It'slength = — = 275m

$56. Ans.(d)
Sol.

Volume of glass = Volume of 32000 drops

3

Le(2) xn—2x() x 32000
37\ =3™\20

h - 4‘ cin ILM
S57. Ans.(a) @ Ssc 20 ‘l 7
Sol. ="

Volume of rectangular block =11 X 10 X 5 = 550 meter SEE (COMPLETEKIT)

4 3 3 3 .
VO;::IE of a sphere= JTXOXOX Ecublc dm 400+ TUTAI. TEST
T cubiedm 200+ MOCKS
B +
550000x 8 e
Req.answer = >~~~ ~ 8800 + 200+ SECTIONAL TEST
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$58. Ans.(c)
Sol.

Side of rhombus=+6%2+ 82 = 10cm

$59. Ans.(a)
Sol.
Volume of block= 21 x 77 x 24 cu. cm.

4
—mrd = 21X 77 X 24

3
r=21cm
$60. Ans.(a)

Sol.

Eix§><r2><z4=1232
r=7cm

Area of curved surfaces = rl = mrvh? + 12
=22%25=550 sq.cm

S$61. Ans.(d)
Sol.

Dist. Covered by the wheel in one revolution = td= % X7=22cm

= 1000

. 221000
no. of revolutions= ———

$62. Ans.(b)
Sol.
% x side® = 94/3

A

B o C

Side = 6 meter
BD =3 meter

AD = +/ABZ — BD? = /27 = 3+/3 meter

$63. Ans.(a)
Sol.

Req. % increase = (5{] + 50+

50x30
100

)%: 125%
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S$64. Ans.(d)
Sol.

Area of floor=8 X 6 = 48 sq. m. = 4800 sq. dm.

Area of square tile=4 X 4 = 16 sq. dm.

no. of tiles = 222% — 300
16

$65. Ans.(c)
Sol.

4-J'n"f 4 ry 2

4:‘:1’% e T 3
%?rrf B (2)3 8

T_ 3
377

$66. Ans.(c)
Sol.

¥} +y*+z° - 3xyz= %![x+y+z][[x—y]2 +(y—2)*+(z—x)?]

1
=5 [333+333+334][0+1+ 1] =1000

$67. Ans.(a)
Sol.

x=(a+b+c)? =y
' btc c+a (a+b)

(a+b+c)®—a? (a+b+c)®—b2 (la+b+c)®—c
+ +

x—hb% x—c?

b+e c+a a+b
=2a+b+ct+a+2b+ct+a+b+2c
=4a+ 4b+ 4c
$68. Ans.(d)
Sol.

G- = (rmam ) 3 (xma- )
=(x—a—-x+b)3+3(x—a—x+b)

=(b-a)}+30b-a) CAREER POWER
— 53 + 3 x 5 — 125 + 15 — 140 AN IIT/IIM ALUMNI COMPANY
26;). Ans.(c) SSC CGL TIER-II
ol. Rep | MAINS
Vi=V3—5 S&E
x=3+5-215 QUANTITATIVE APTITUDE
x—8=-2415
e erscn 6o 20 FULL LENGTH MOCKS

¥~ 16x+6 =2
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$70. Ans.(a)

Sol.
x= |2.]4V2Y%......
= 2. |42VE ..
on cubing

¥ =8Xdx=>x=72

S$71. Ans.(b)
Sol.

342 o 31;"5{1;"3—\;"5} . o
6-3 =2v3-+6

V3e
=3v2-6

43
(V6++2)

Jé
N, Rt

So,2v3—-vV6—3V2+/6+3V2-2V3=0

$72. Ans.(a)

Sol.

a?+b*+c?=2(a—b—c)—3
a’+b*+c*—2a+2b+2c+3=0
a?—2a+1+b>+2b+1+c?+2c+1=0
(a—1)?*+Mb+1)+(c+1)?>=0
=4a—3b+5c=4%X1-3X -1+ 5x-1=2

$73. Ans.(c)
Sol.
3

1
x+=-==
x 2

On cubingboth sides.

S$74. Ans.(a)
Sol.

a?—b*+b*—c*+c?—a?*=0
(az _bE)S + (bQ _C2)3+ (CE _ azja — 3&12 _bE)(bE
=3(a+b)(a—Db)(b+c)(b—c)lc+a)(c— a)

—¢2)(c? — a?)

| www.bankersadda.com

12

www.sscadda.com

www.careerpower.in

www. adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

$75. Ans.(d)

Sol.
x=35+2
x—2=5’§f§

X3 —3x2x2—-3x(—2)-2*=5
xP—6x2+12x—8=5
X —6x7+12x—13=0

$76. Ans.(a)
Sol.
AABC

h .
tan@ = oo (1)
AABD
tan20 = - (i)

al
2tan®  h
1—tan?28 60
h=80m

$77.Ans.(c)
Sol.
£A+ £B+£C=180 (1)
(£B-2C)- (£A-£B)=30°-15°=15°
246B-£A-£C=15 (i)
From (i) & (ii)
ZB=65"
£A-/B=15°
£ZA=80
£C=35°

$78. Ans.(c)
Sol.

A

B o C
AB = 2x units
BD = DC = x units

AB:BD=2:1

+|CAREER POWER

M UTHM ALUMNI OOMPAN

$SC DELHI POLICE

Constable
5 FULL LENGTH MOCKS
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$79. Ans.(b)
Sol.

B D C
AB=AC=2a
BC=a

BD=DC :g

AD = VABZ = BD? = [4a* %= |

V15 .
= TJ @ units

$80. Ans.(d)
Sol.

AE=AH
BE=BF
GC=FC

GD=HD

15a2

4

= AE+BE+ GC+ GD = AH+ HD + BF + FC

= AB+CD=AD+BC
6+3=AD+75
AD=15cm

$81. Ans.(c)
Sol.

A

B C

AB xBC=2C
AC?=2ABx BC
AB?+ BC?=2AB x BC
(AB-BC)?=0
AB=BC

/BAC= £ACB = 45°
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$82. Ans.(d)
Sol.

X
Ve,

AC=+/52-32=4
AB=2AC
=8cm

$83. Ans.(b)
Sol.

A D

B C
£0BC=45°

£0CB=60°
£B0C=180-60-45=75°

$84. Ans.(a)
Sol.

A

C D B

AC?+BC?=AB?
AD?=AC%+CD?
AD?-CD?=AC?
AB%2=BC?+AD?-CD?
AB%+CD?=B(C?+AD?

$85. Ans.(d)
Sol.

P

J‘
£PAB = £QAC
£APB= £AQC = 90°
£QCA = £PBA,AC = BC
QC=2PB

A

(/N

[

ﬁEICAREER POWER
| I ISR

s SSC CGL MAINS

8@’ TIER-II
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$86. Ans.(c)
Sol.

$87. Ans.(b)

Sol.
each angle of a regular octagon
= i (2n— 4) rightangle
=%(2><8—4}><90°

12 x 90°

-8
_3in

T .
=7 radian

=135°

$88. Ans.(c)
Sol.
£DEC=90°

DE 18
~CE=E
tan ZABC = 3.6
£C=+B,AC=AB
£C+ 2D =90°
2.C+ 22D =180°
LA+ 2B+ £C=180°

3.6

tan C

LA=22D
AC  2CD
CB CE

@} SSC CGL MAINS
S50 TIER-|
ENGLISH LANGUAGE

:ﬁ(”.-\RF,IiR POWER

20 FULL LENGTH MOCKS
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$89. Ans.(c)
Sol.

4

B D C

AD
tan ACB _ E
tanDBE DE
BD
AD « BD 6BD
DC" DE DC
BD=DC
2ACB=60°

ABCis an equilateral A.

$90. Ans.(d)

Sol.
sin® + cos® =v/2cosd  ...(i)
cosB —sinf = x -(ii)

sin®® + cos?B +2sind .cosd +cos?B +sin’0 -2sinB.cosO = 2cos?0 +x

2 =2cos?0 + x?
x? = 25in?%8

x = /2 sin®

S$91. Ans.(a)
Sol.

x sin45 = y cosec 30°

1
XX—==yX2

V2

x x*
;zzﬁ:.y—f(zﬁ)“zz**x?:zﬁ:

$92. Ans.(b)
Sol.
A
B AC
tan30° = @ = AB = 5—0- meter
BC V3

43

2
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$93. Ans.(d)

Sol.
D C

CP= -JPB?+BC?—’ + 4x? = —"

Sin LCPB—— = ﬁ

S94. Ans.(a)
Sol.
SinA S5inA  ZsinA

+ = = 2 cosecA
1+Co=A 1—CosA gin? A

$95. Ans.(d)
Sol.

tanf = = = B = 30°
43

1
v'gtan9+1=v'§.tan3ﬂ°+l=x/§><ﬁ+l=2

$96. Ans.(c)
Sol. In freq. distribution, an O give is graphical representation of cumulative frequency.

$97. Ans.(a)
Sol.
Req. Avg. = (#)

Million tones = 40 lakh tones

$98. Ans.(a)

Sol.

110°= 222222 — 2750 tonnes.

$99. Ans.(c)

Sol.

Percentage decrease = 2227 . ' J Ssc CGI- TIER "

i Maths & English

$100. Ans.(c) SEE @399/-

o Mock Test Booklets |

f:)eq Avg — 100+220+300+200+250 _ 214 MOCk TeSt BOOk'EtS
o ’ 10 TEST BOOKLETS (PRINTED TEST)

Bilingual
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